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6 (a) (LHS)2 = (2 + √3) − )32()32(2 −+  + (2 −√3) 

  = 4 − 2 34−  

  = 2 = (RHS)2 

  

 [ 2 + √3 > 2 − √3    we know LHS > 0] 

  

 
(b) 

8
1log √2 = 

8
1

2

2

log
2log , = 3

2

2
1

2

2log
2log
−

, = 
3

2
1

−
 = −

6
1  * 

  

  

the Further Mathematics network 



 (c) 1515 −−+ aa  = 
2
1

1 −

⎟
⎠
⎞

⎜
⎝
⎛

n
 = √n 

  

 Squaring ⇒ a + √15 − 2 152 −a  + a − √15 = n 

 i.e.   2(a − 152 −a  ) = n 

 So we require   a2 − 15 = b2 

     a2 − b2 = 15 

 i.e    (a − b) (a + b) = 15 

 Or    15 = 3 × 5 or 1 × 15 

 But 3 × 5 ⇒ a − b = 3 ∴ a = 4 

   a + b = 5 

 1 × 15 ⇒ a − b =13 ∴ a = 8 

   a + b = 15 

 a = 4,  n = 2(4 − 1542 − ) = 6 

 a = 8,  n = 2(8 − 1564− ) = 2            Pairs are a = 4, n = 6 

 a = 8, n = 2

  

 


